

2. just expanding the bracket.

$$a = 1 \times 2 = 2. \quad b = 1 \times 3 + 2 \times 2 = 7. \quad c = 1 \times 1 + 1 \times 2 + 2 \times 3 = 9$$

$$d = 1 \times 5 + 2 \times 1 + 1 \times 3 = 10, \quad e = 1 \times 1 + 2 \times 5 = 11, \quad f = 1 \times 5 = 5.$$

$$3. (1+x+x^2+\dots)(1-x+x^2-x^3+\dots) = a_0 + a_1x + a_2x^2 + \dots + a_nx^n + \dots$$

$$\text{LHS} = \frac{1}{1-x} \cdot \frac{1}{1+x} \quad (\text{use the Taylor's formula from the reverse direction})$$

$$= \frac{1}{1-x^2}.$$

And RHS = A polynomial so we just need to expand $\frac{1}{1-x^2}$.

$$\frac{1}{1-x^2} = 1 + x^2 + x^4 + \dots = \text{RHS} = a_0 + a_1x + a_2x^2 + \dots \quad (\text{use the geometric series})$$

$$\text{so } a_n = \begin{cases} 1 & n \text{ is even} \\ 0 & n \text{ is odd.} \end{cases}$$

Remark: Some of you may ask the question about the "convergence radius" here, but actually what we do here just some "formal operation", don't relate to concrete number so we don't need to worry about convergence radius, you can google "generating function"

for more.

Assignments.

$$1. \int x^5 \sqrt{1+x^3} dx.$$

$$\text{Sol. (1) take } u = x^3 \Rightarrow du = 3x^2 dx.$$

$$\int x^5 \sqrt{1+x^3} dx = \frac{1}{3} \int u \sqrt{1+u} \cdot du.$$

$$(2) \text{ take } t = \sqrt{1+u} \Rightarrow dt = \frac{1}{2} \cdot \frac{1}{\sqrt{1+u}} du \Rightarrow 2t dt = du, \quad u = t^2 - 1$$

$$\frac{1}{3} \int u \sqrt{1+u} du = \frac{2}{3} \int (t^2 - 1) \cdot t \cdot t dt = \frac{2}{3} \int (t^4 - t^2) dt = \frac{2}{3} \cdot \frac{1}{5} t^5 - \frac{2}{3} \cdot \frac{1}{3} t^3 + \boxed{C}$$

$$= \frac{2}{15} (1+x^3)^{\frac{5}{2}} - \frac{2}{9} (1+x^3)^{\frac{3}{2}} + C$$

2. Compute an approximation to $\int_0^1 \frac{\sin x}{x} dx$. with error less than 0.01

Sol: For the general case, in order to approximate $\int_0^1 f(x) dx$.

We use n-th order Taylor polynomial like:

$$\int_0^1 f(x) dx = \int_0^1 [T_n(x) + E_n(x)] dx = \underbrace{\int_0^1 T_n(x) dx}_{\text{our approximate value}} + \underbrace{\int_0^1 E_n(x) dx}_{\text{err}}$$

$$\Rightarrow \left| \int_0^1 f(x) dx - \int_0^1 T_n(x) dx \right| = \left| \int_0^1 E_n(x) dx \right| \leq \int_0^1 |E_n(x)| dx$$

We try to estimate it to give a bound to the error.

Back to $\int_0^1 \frac{\sin x}{x} dx$.

$$\text{For } \sin(x) = x - \frac{1}{3!}x^3 + \dots + \frac{(-1)^n}{(2n+1)!}x^{2n+1} + \frac{(-1)^{n+1} \cos \xi}{(2n+3)!}x^{2n+3}$$

$$\Rightarrow \frac{\sin x}{x} = 1 - \frac{1}{3!}x^2 + \dots + \frac{(-1)^n}{(2n+1)!}x^{2n} + \frac{(-1)^{n+1} \cos \xi}{(2n+3)!}x^{2n+2} = E_n(x)$$

$$\Rightarrow \int_0^1 |E_n(x)| dx \leq \frac{1}{(2n+3)!} \int_0^1 x^{2n+2} dx \quad (|\cos \xi| \leq 1)$$

$$= \frac{1}{(2n+3)!} \cdot \frac{1}{2n+3} \leq 0.01 = \text{tol. is ok.}$$

When $n=0$. $\frac{1}{3!} \cdot \frac{1}{3} = \frac{1}{18} > 0.01$ not satisfied.

$n=1$. $\frac{1}{5!} \cdot \frac{1}{5} = \frac{1}{600} < 0.01$, satisfied.

so we just need to take $T_1(x) = 1 - \frac{1}{3!}x^2$ to approximate $\frac{\sin x}{x}$.

Actually, the exact value for $\int_0^1 \frac{\sin x}{x} dx = 0.946083\dots$

$$\text{and } \int_0^1 (1 - \frac{1}{6}x^2) dx = 1 - \frac{1}{18} \approx 0.944\bar{4}\dots$$

We can see the error appears in 3-rd digits.

$$3. \int_0^{2\pi} x |\cos x| dx$$

$$= \int_0^{\frac{\pi}{2}} x \cos x dx + \int_{\frac{3}{2}\pi}^{2\pi} x \cos x dx - \int_{\frac{\pi}{2}}^{\frac{3}{2}\pi} x \cos x dx$$

$$= (x \sin x + \cos x) \Big|_0^{\frac{\pi}{2}} + (x \sin x + \cos x) \Big|_{\frac{3}{2}\pi}^{2\pi} - (x \sin x + \cos x) \Big|_{\frac{\pi}{2}}^{\frac{3}{2}\pi} \quad \left(\int x \cos x dx = x \sin x + \cos x + C \right)$$

$$= \frac{\pi}{2} \cdot 1 + 1 - (-\frac{3}{2}\pi) - \left[-\frac{3}{2}\pi - \frac{\pi}{2} \right]$$

$$= 4\pi.$$

$$4. I_n = \int_a^b x^k (\ln x)^n dx \quad (\text{integrats. by parts})$$

$$= \frac{1}{k+1} \int_a^b (\ln x)^n d x^{k+1}$$

$$= \frac{1}{k+1} x^{k+1} (\ln x)^n \Big|_a^b - \frac{1}{k+1} \int_a^b x^{k+1} \cdot d(\ln x)^n$$

$$= \frac{x^{k+1} (\ln x)^n}{k+1} \Big|_a^b - \frac{1}{k+1} \int_a^b x^{k+1} \cdot n \cdot (\ln x)^{n-1} \cdot \frac{1}{x} dx.$$

$$= \frac{x^{k+1} (\ln x)^n}{k+1} \Big|_a^b - \frac{n}{k+1} I_{n-1} \quad n \geq 1.$$